ALFERAE

T (%) &S oS 4 HFE =2 = — i B E=E

AL & el ML g CFYE) I (20 1)

L (E17) B =L 1 A

M A B & &M 4 & 10 A 21 H 9O B 0 #

A B =R fEE AL

SEALMAR R USEALER 6,470,000 M (FikE) 94.94 %

sxetilAg (FdiA) 7,496,500 H TEME (HiRE) 6,815,000 M

FEMIE (FiA) 7,496,500 M AALBLLBHTS (BitkE) 6,815,000 M

AKHIPRAMEAS (Ftd) 6,842,000 H AHLBLEBATIG (BiiRE) 6,220,000 M
AMLE AfLEE (BitkE) | NEfZ (e

(*R) Tt 6,470,000 1 [ZEiL

(¥k) [ HHER% 6,550,000 3

()BT IEIE 6,600,000

(RR)7KBF2 6,550,000

B)=2 )10k 6,510,000

(B )R 6,550,000




ALFERAE

T (%) &S oS 4 HFE =2 = — i B E=E

AL & el ML g CFYE) I (20 2)

L (E17) B =1:] REIH A

M A B & &M 4 & 10 A 21 H 9 B 5 &

A B =R fEE AL

SEALMAR R USEALER 5,150,000 M (FitkE) 98.23 %

sxetilAg (FdiA) 5,767,300 M TEME (HiRE) 5,243,000 M

FEMIE (FiA) 5,767,300 M AALBLLBHTS (BitkE) 5,243,000 M

AKHIPRAMEAS (Ftd) 5,247,000 H AHLBLEBATIG (BiiRE) 4,770,000 M
AMLE AfLEE (BitkE) | NEfZ (e

(*R) Tt 5,170,000 me) (RBEEALESIRDD)

(K ) el R385 5,150,000 1 [ZiL

()BT IEIE 5,240,000

(FR)KBEE 5,250,000 w2 (FEMSEE)

B)=)%1E 5,160,000 2

(B )R 5,220,000




ALFERAE

T (M%) &S oS 4 HFE ] = — i B ESE S

AL #H A PN L eiE b)) IF (2D 3)

T (FE1T) BFh =1:] A= A

M L B & &M 4 & 10 A 21 H 9 B 10 &

A B =R fEE AL

SEALMAR R USEALER 4,750,000 B (#kE) 94.75 %

sxetilAg (FdiA) 5,514,300 M THEME (i) 5,013,000 M

FEMAE (FiA) 5,514,300 M AMUBLLEHIES (Biike) 5,013,000 H

REHIRME (BHA) 5,016,000 M AALBLLBHTS (BitkE) 4,560,000 M
AMLE AMLEE (FitkZE) | BRI (e

(*R) Tt 4,770,000 meh (FABEALEHIRORD)

(K ) el R385 4,800,000 me (RBEEALESIRDD)

(¥R T35 4,760,000 2

(RR)7KBF2 4,860,000

B)3)13%1F 4,780,000 3

(B MzEtn

4,750,000 1 [’&AL




